

PO BOX 125

# **Trading Account Statement**

BLI BLI QLD 4560

Period: 01/07/2021 - 30/06/2022 Tradina Account Number: 1124936

AUSTRALIA				Trading Account	Number: 1124936
Date	Reference	Description	Debit	Credit	Balance
01/07/2021		Open Balance			0.00
Total			0.000	0.000	

Generated: 11/01/2023 01:21 PM Page 1 of 6



PO BOX 125 BLI BLI QLD 4560

Period: 01/07/2021 - 30/06/2022

**Confirmations** 

AUSTRALIA Trading Account Number: 1124936

Code Confirmation No. Type Trade Date Settlement Date Price Quantity Brokerage GST Other fees Consideration

Generated: 11/01/2023 01:21 PM Page 2 of 6



PO BOX 125

**Holdings**At close of business: 30/06/2022

BLI BLI QLD 4560

AUSTRALIA				Trading Account Number: 1124936		
Code	Company Name	Closing Price	FX Rate	Quantity	Value	
AMC	AMCOR PLC	18.040		2,757	49,736.280	
ANN	ANSELL LIMITED	22.240		880	19,571.200	
ANZ	ANZ GROUP HOLDINGS LIMITED	22.030		763	16,808.890	
BHP	BHP GROUP LIMITED	41.250		3,609	148,871.250	
СВА	COMMONWEALTH BANK OF AUSTRALIA.	90.380		850	76,823.000	
EDV	ENDEAVOUR GROUP LIMITED	7.570		950	7,191.500	
QBE	QBE INSURANCE GROUP LIMITED	12.150		2,710	32,926.500	
WBC	WESTPAC BANKING CORPORATION	19.500		8,500	165,750.000	
WDS	WOODSIDE ENERGY GROUP LTD	31.840		652	20,759.680	
WES	WESFARMERS LIMITED	41.910		681	28,540.710	
WOW	WOOLWORTHS GROUP LIMITED	35.600		950	33,820.000	
Total					600,799,010	

Generated: 11/01/2023 01:21 PM Page 3 of 6



PO BOX 125 BLI BLI QLD 4560

## **International Dividends**

Period: 01/07/2021 - 30/06/2022

Code	Pay Date	Ex Date	Holdings at Ex Date	Gross Amount Per Share	Gross Fo	ees	Tax Withheld	Net Amount	FX Rate	Net Amount (AUD)
Total										0.00

Generated: 11/01/2023 01:21 PM Page 4 of 6



## **Statement Glossary**

### **Trading Account Statement**

The Trading Account Statement displays all transactions processed through the trading account during the reporting period. This may include trade transactions (buying and selling shares) as well as cash movements for settling trades. All prices and values are denominated in AUD unless otherwise indicated.

**Date** The date the transaction was processed **Reference** A unique reference number for the transaction

 Description
 A brief description of the transaction

 Debit
 Amount debited from the trading account

 Credit
 Amount credited to the trading account

 Balance
 A running balance of the trading account

#### **Confirmations**

The Confirmations statement lists all equity trade confirmations recorded on the trading account during the reporting period. This is a summary of the information provided to you through email or printed trade confirmations issued on the day of the trade. All prices and values are denominated in AUD unless otherwise indicated.

**Code** The instrument code traded

**Confirmation** The unique confirmation reference number

No

**Type** Indicates if the transaction was a Buy or Sell

**Trade Date** The date the trade was recorded

**Settlement** The date the transaction was due to settle. This will usually, but not always, be 2 business day after the trade date

Date

**Price** The average price at which the shares were bought or sold

**Quantity** The number of shares bought or sold

**Brokerage** The brokerage charged for the transaction (excluding GST)

**GST** The GST charged for the transaction for brokerage and any other fees

**Other Fees** Any other fees related to the transaction (excluding GST). This may include stamp duty, postage fees, or exchange fees. Please refer to

your original confirmation for full details

Consideration The consideration paid (for buys) or received (for sells) net of brokerage, fees, and GST

**For confirmations** related to international shares, the foreign exchange rate and price in local currency is displayed

Exchange

### **Holdings**

The Holdings statement displays all equity positions held at the end of the reporting period.

**Code** The instrument code

 $\begin{tabular}{ll} \textbf{Company Name} & The name of the company or instrument \\ \end{tabular}$ 

**Closing Price** The price as at market close on the last trading day of the reporting period

**FX Rate** The foreign exchange rate applied to international holdings

**Quantity** The notional number of shares held. This will include any pending buy transactions, and exclude any pending sell transactions **Value** The value, in AUD, of the holding at the end of the reporting period. So Closing Price x Quantity (x FX rate for international holdings)

Generated: 11/01/2023 01:21 PM Page 5 of 6



## **Statement Glossary**

### **International Dividends**

The International Dividends Statement lists all dividends paid from international shares during the reporting period. All prices and values are denominated in AUD unless otherwise indicated.

Code The instrument code

**Pay Date** The date the dividend was paid to you

**Ex Date** The date after which a security will trade without the dividend. You must hold the security on this date to be entitled to the dividend

Holdings at Ex

The number of shares you held on the ex date

**Gross Amount** Per Share

The amount paid by the company per share held

**Gross Amount** The gross amount paid, being Amount per Share x Holdings at ex date

Fees Custodial Fees charged by our custodian

The amount of tax withheld from the dividend. In some cases for US Shares you may be eligible for a reduced rate of withholding tax. Tax Withheld

See the trading platform under Support  $\mid$  US Tax Form for more details

**Net Amount** The net amount paid after tax has been withheld in the local currency of the instrument

**FX Rate** The foreign exchange rate applied to the dividend payment

**Net Amount** (AUD)

The net amount in AUD paid into your account

Generated: 11/01/2023 01:21 PM Page 6 of 6